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Abstract
In this paper, We introduce the definition of M-fuzzy hyponormal operator and also explored about some
important properties of M-Fuzzy hyponormal operator from Fuzzy hyponormal operators in fuzzy Hilbert space.
For a fuzzy continuous linear operator T on a Fuzzy Hilbert space H there exists a real number M 3 if∥∥(T− zI)∗ u

∥∥ ≤ M‖(T− zI)u‖ for all u ∈ H and for all z ∈ C (field of complex numbers).We have given some
definitions which are related to M-fuzzy hyponormal operator in fuzzy Hilbert space.
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1. Introduction
In very first, Katsaras[4] introduced the notation of Fuzzy

Norm on a linear space in 1984. In 1991, First Biswas[10]
introduced the definition of Fuzzy Inner Product space[FIP
space].Some other mathematicians like Kohil and Kumar also
gave an alternate definitions of Fuzzy Inner Product space[FIP-
space] in[6][8][9][10]. Youngfusu[13] gave Riesz theorem
using fuzzy concept in 2007.The definition of a Fuzzy Hilbert
space has been first introduced by Goudarzi and Vaezpour
[8] in 2009. The concept and properties of Adjoint Fuzzy
operator and Self-adjoint fuzzy operators using the triplet ,
(H,F,∗) where H is a real vector space, F is the Fuzzy Set
on H2×R and ∗ is continuous t- norm in a Fuzzy Hilbert
space which was first introduced by Sudad M Rasheed [3].
An operator T ∈ FB(H) be a τF Continuous linear functional
∃ T∗ ∈ FB(H) such that 〈Tu,v〉= 〈T∗u,v〉 ,∀u,v ∈ T.Also T

is a Self - Adjoint Fuzzy operator if T = T∗.Fuzzy Normal
operator (FN operator) was introduced by Radharamani et

al.[2] in 2008 . If T is said to be Fuzzy Normal operator then
it commutes with its Ajoint Fuzzy operator. i.e. T∗T = TT∗.
In 2019, Fuzzy Hyponormal operators and their properties
were studied by A.Radharamani et al.[1, 18] and investi-
gate many interesting properties of some Fuzzy Hyponor-
mal operators similar to these of Fuzzy Normal operators.An
operator T ∈ FB (H) is said to be Fuzzy Hyponormal if
T∗T ≥ TT∗.Also Fuzzy class of N operators were defined if∥∥T2u

∥∥≥ ‖Tu‖2∀u ∈H,‖u‖= 1.
Here we introduced M-Fuzzy hyponormal operator if

‖(T− zI)∗u‖ ≤M‖(T− zI)u‖

for all u ∈H and for all z ∈ C (field of complex numbers).We
have given some lemmas and properties of M-Fuzzy Hyponor-
mal operator. An operator T ∈ FB (H) is M-Fuzzy Hyponor-
mal operator then

∥∥(T− z̄I)−1u
∥∥≤M

∥∥(T− zI)−1u
∥∥ for each

u ∈H.An operator T ∈ FB (H) is M-Fuzzy hyponormal oper-
ator then their powers also M-Fuzzy hyponormal operator.We
will also discuss these in detail. If an operator T is a M -Fuzzy
hyponormal operator then M≥ 1 and T is fuzzy hyponormal
operator iff M = 1.

2. Preliminaries
In this section , we recollect some basic definitions and

theorems of fuzzy operators which will be used in this paper.
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Definition 2.1. [FIP-Space][8] A Fuzzy Inner Product space
(FIP- Space) is a triplet (H,F,∗), where H is a real vector
space, ∗ is a continuous t-norm, F is a fuzzy set on H2×R
satisfying the following conditions for every u,v,w ∈H and
s,r, t ∈ R.

FI-1: F(u,u,0) = 0 and F(u,u, t)> 0, for each t > 0

FI-2: F(u,u, t) 6= H(t) for some t ∈ R if and only if
u 6= 0, where

H(t) =
{

1 i f t > 0
0 i f t ≥ 0

FI-3: F(u,v, t) = F(v,u, t)

FI-4: For all α ∈ R,

F(αu,v, t) =

 F (u,v, t
α
) : α > 0

H(t) : α = 0
1−F(x,y, t

α
) : α < 0

FI-5: F(u,u, t)∗F(v,v,s)6 F(u+ v,u+ v, t + s)

FI-6: Sups+r=t [F(u,w,s)∗F(v,w,r)] = F(u+ v,w, t)

FI-7: F(u,v, .) : R→ [0,1] is continuous on R\{0}

FI-8: lim
t→∞

F(u,v, t) = 1

Definition 2.2. [13] Let (H,F,∗) be probabilistic inner prod-
uct space.

1. A sequence {un} ∈H is called τ- converges to u ∈H, if
for any ∈> 0 and λ > 0, ∃ N ∈ Z+, N = N(ε,λ ) such
that F(un−u,un−u,ε)> 1−λ , whenever n > N.

2. A linear Functional f (u) defined on H is called τF -
continuous, if un

τF→ u implies f (un)
τF→ f (u) for any

{un},u ∈H.

Definition 2.3. [8] Let (H,F,∗ be a FIP-space, where ∗ is
strong t - norm, and for each u,v ∈H, sup{t ∈ R : F(u,v, t)<
1}< ∞. Define 〈., .〉 : H×H→ R by

〈u,v〉= sup{t ∈ R : F(u,v, t)< 1}.

Then (H,〈., .〉) is an IP-space(Inner Product space), so that
(H,‖.‖) is a N-space(Normed space), where ‖.‖= 〈u,u〉1/2,
∀u ∈H.

Theorem 2.4. [8] Let (H,F,∗) be a FH-space with IP:〈u,v〉
= sup{t ∈ R : F(u,v, t) < 1}, ∀ u,v ∈ H for un ∈ H and

un
‖.‖→ u then un

τF→ u.

Theorem 2.5. [Riesz Theorem][8][13] Let (H,F,∗) be a
FH-space. For any τF -continuous functional, ∃ unique v∈H
such that for all u ∈H, then we have

g(x) = sup{t ∈ R : F(u,v, t)< 1}

Theorem 2.6. [3] Let (H,F,∗) be a FIP-space, where ∗ is
strong t - norm , and sup{u ∈ R : F(u,v, t) < 1} < ∞ for all
u,v ∈H, then

sup{t ∈ R : F(u+ v,w, t)< 1}= sup{t ∈ R : F(u,w, t)< 1}

+ sup{t ∈ R : F(v,w, t)< 1},

∀u,v,w ∈H

Remark 2.7. [3] Let FB(H) be the set of all Fuzzy Bounded
linear operators on H.

Definition 2.8. [Fuzzy Hilbert Space][8] Let (H,F,∗) be a
FH-space with IP:〈u,v〉= sup{t ∈ R : F(u,v, t)< 1},∀u,v ∈
H. If H is complete in the ‖.‖ then H is called Fuzzy Hilbert
space (FH -space).

Theorem 2.9. [Adjoint Fuzzy operator in FH-space][3] Let
(H,F,∗) be a FH-space and let T ∈ FB(H) be τF - contin-
uous linear functional, then ∃ unique T∗ ∈ FB(H) such that
〈Tu,v〉= 〈u,T∗v〉,∀u,v ∈H.

Definition 2.10. [Self -Adjoint Fuzzy operator][3] Let (H,F,
∗) be a Fuzzy Hilbert space with IP:

〈u,v〉= sup{t ∈ R : F(u,v, t)< 1},

∀u,v ∈H and let T ∈ FB(H). Then T is Self -adjoint fuzzy
operator if T=T∗, where T∗ is adjoint fuzzy operator of T.

Theorem 2.11. [3] Let (H,F,∗) be a FH-space with IP:〈u,v〉
= sup{t ∈R :F(u,v, t)< 1},∀u,v∈H. Let T ∈ FB(H) .Then
‖Tu‖= ‖T∗u‖ for all u ∈H.

Theorem 2.12. [3] Let (H,F,∗) be a FH-space with IP:〈u,v〉
= sup{t ∈ R : F(u,v, t)< 1} for all u ∈H. Let T ∈ FB (H).
Then T is a Self -adjoint fuzzy operator.

Definition 2.13. [Fuzzy Isometry Operator][2] Let(H,F,∗)
be a FH-space with IP:〈u,v〉 = sup{t ∈ R : F(u,v, t) < 1},
∀u,v ∈H. and let T ∈ FB (H). Then T is said to be Fuzzy
Isometry Operator if ‖Tu‖= ‖u‖ for any u ∈H. i.e. 〈Tu,Tv〉
= 〈u,v〉.

Definition 2.14. [Fuzzy Hyponormal operator][1] Let (H,F,
∗) be a FH-space with IP:〈u,v〉= sup{t ∈ R : F(u,v, t)< 1},
∀u,v∈H. Let T ∈ FB (H). Then T is a Fuzzy Hyponormal op-
erator if ‖T∗u‖≤ ‖Tu‖, ∀u∈H or equivalently T∗T−TT∗ ≥
0.

Theorem 2.15. [1] Let T ∈ FB (H) be Fuzzy hyponormal iff
‖T∗u‖ ≤ ‖Tu‖, for all u ∈H.

Theorem 2.16. [1] Let T ∈ FB (H). Then T= 0⇔〈Tu,u〉=
0, u ∈H.

Theorem 2.17. [1] Let (H,F,∗) be a FH-space with IP:〈u,v〉
= sup{t ∈ R : F(u,v, t) < 1}, ∀u,v ∈H and let T ∈ FB(H)
be a Fuzzy hyponormal operator on H. Then ‖(T− zI)u‖ ≥
‖(T∗− z̄I)u‖, ∀u ∈H, i.e. T− zI is Fuzzy hyponormal opera-
tor.
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3. Main Results of M- Fuzzy Hyponormal
Operator

In this section we introduced the definition of M- Fuzzy
hyponormal operator and some theorems are discussed in
detail.

Definition 3.1. [M-Fuzzy hyponormal operator] Let (H,F,
∗) be a FH-space with IP : 〈u,v〉= sup{t ∈R : F(u,v, t)< 1},
∀u,v∈H and let T ∈FB(H) is called a M-Fuzzy hyponormal
operator if there exist a real number M, 3 ‖(T− zI)∗u‖ ≤
M‖(T− zI)u‖ for all u ∈H and for all z ∈ C.

Theorem 3.2. T is a M-Fuzzy hyponormal operator iff M2

(T− zI)∗(T− zI) −(T− zI)(T− zI)∗ ≥ 0 for all z∈ C.

Proof. Given T is a M-Fuzzy hyponormal operator,

i.e.‖(T− zI)∗u‖ ≤M‖(T− zI)u‖
Consider,

M2(T− zI)∗(T− zI)− (T− zI)(T− zI)∗ ≥ 0

⇔〈M2(T− zI)∗(T− zI)− (T− zI)(T− zI)∗u,u〉 ≥ 0

⇔〈M2(T− zI)∗(T− zI)u,u〉−〈(T− zI)(T− zI)∗u,u〉 ≥ 0

⇔M2 sup{t ∈ R : F((T− zI)∗(T− zI)u,u, t)< 1}
− sup{t ∈ R : F((T− zI)(T− zI)∗u,u, t)< 1} ≥ 0

⇔M2 sup{t ∈ R : F((T− zI)u,(T− zI)u, t)< 1}
− sup{t ∈ R : F((T− zI)∗u,(T− zI)∗u, t)< 1} ≥ 0

⇔M2〈(T− zI)u,(T− zI)u〉−〈(T− zI)∗u,(T− zI)∗u〉 ≥ 0

⇔M2‖(T− zI)u‖2−‖(T− zI)∗u‖2 ≥ 0

⇔M2‖(T− zI)u‖2 ≥ ‖(T− zI)∗u‖2

⇔M‖(T− zI)u‖ ≥ ‖(T− zI)∗u‖
⇔T is M- Fuzzy hyponormal operator

Theorem 3.3. Let T is a M - Fuzzy hyponormal operator
then M≥ 1.T is Fuzzy hyponormal operator iff M = 1.

Proof. Given T is a M− Fuzzy hyponormal operator then
M≥ 1.
i.e ‖(T− zI)∗u‖ ≤ M‖(T− zI)u‖ for all u ∈ H and for all
z ∈ C.
If M = 1, then
‖(T− zI)∗u‖ ≤ 1.‖(T− zI)u‖ for all u ∈H and for all z ∈ C
by the definition
⇔ T is M Fuzzy hyponormal operator

Theorem 3.4. Let T is a M-Fuzzy hyponormal operator then
for any complex number λ , T−λ I and λT are also M - Fuzzy
hyponormal operator

Proof. Given T is an M-Fuzzy hyponormal operator,

i). For any complex number λ ,we consider

‖((T−λ I)− zI)∗u‖= ‖(T−λ I− zI)∗u‖
= ‖(T− (λ + z)I)∗u‖

Since T is M -Fuzzy hyponormal operator, we have

‖(T− zI)∗u‖ ≤M‖(T− zI)u‖
‖((T−λ I)− zI)∗u‖ ≤M‖(T− (λ + z)I)u‖

≤M‖((T−λ I)− zI)u‖,
∀u ∈H

Therefore, T−λ I is M-Fuzzy hyponormal operator.

ii). To prove λT is M - Fuzzy hyponormal operator
If λ=0, then λT = 0.
Since T is M - Fuzzy hyponormal operator then

‖(T− zI)∗u‖ ≤M‖(T− zI)u‖

If λ 6= 0, consider∥∥(λT− zI)∗ u
∥∥≤ |λ |∥∥∥(T−( z

λ

)
I
)∗

u
∥∥∥

≤ |λ |M
∥∥∥(T−( z

λ

)
I
)

u
∥∥∥

≤M‖(λT− zI)u‖

Therefore λT is M-fuzzy hyponormal operator.

Theorem 3.5. If T is M - Fuzzy hyponormal operator Tu= zu
then T∗u = z̄u.

Proof. Given T is M -Fuzzy hyponormal operator.
Let ‘u’ be an eigen vector of T corresponding to the eigen
value z.
Since, Tu = zu

⇒Tu− zu = 0
⇒Tu− zIu = 0
⇒(T− zI)u = 0
⇒(T− zI) = 0

We know that, T = 0 iff 〈Tu,Tu〉= 0.

⇒sup{t ∈ R : F((T− zI)∗u,(T− zI)∗u, t)}= 0
⇒(T− zI)∗u = 0 then for each u ∈H

⇒(T∗− z̄I)u = 0
⇒T∗− z̄Iu = 0
∴ T∗u = z̄u

Thus, u is an eigen vector of T∗ corresponding to a eigen value
z̄.
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Theorem 3.6. T is M -Fuzzy hyponormal operator. If Tu =
z1u and Tu = z2u, z1 6= z2 then 〈u,v〉= 0.

Proof. Since T is M -Fuzzy hyponormal operator.
If Tu = z1u and Tu = z2u, z1 6= z2
then by the theorem, T∗u = z̄1u and T∗v = z̄2v

Let z1〈u,v〉=〈z1u,v〉
=sup{t ∈ R : F(z1u,v, t)< 1}
=sup{t ∈ R;F(Tu,v, t)< 1}
=sup{t ∈ R : F(u,T∗v, t)< 1}
=sup{t ∈ R : F(u, z̄2v, t)< 1}
=sup{t ∈ R : F(z2u,v, t)< 1}
=〈z2u,v〉

z1〈u,v〉=z2〈u,v〉

Hence if z1 6= z2, then 〈u,v〉= 0

Theorem 3.7. If T is M -Fuzzy hyponormal operator then
‖(T∗− z̄I)−1u‖ ≤M‖(T− zI)−1u‖ for each u ∈ H.

Proof. For each u ∈ H,

‖(T∗− z̄I)−1u‖2 ≤〈(T∗− z̄I)−1u,(T∗− z̄I)−1u〉
=sup{t ∈ R : F((T∗− z̄I)−1u,

(T∗− z̄I)−1u, t)< 1}
=sup{t ∈ R : F(((T− zI)∗)−1u,

((T− zI)∗)−1u, t)< 1}
=〈((T− zI)∗)−1u,((T− zI)∗)−1u〉
=‖((T− zI)∗)−1u‖2

=‖((T− zI)∗)−1‖2‖u‖2

=‖(T− zI)∗‖−2‖u‖2

≤(M‖T− zI‖)−2‖u‖2

≤M−2‖T− zI‖−2‖u‖2

≤ 1
M2 ‖T− zI‖−2‖u‖2

≤ 1
M2 ‖(T− zI)−1‖2‖u‖2

‖(T∗− z̄I)−1u‖2 ≤ 1
M2 ‖(T− zI)−1u‖2

‖(T∗− z̄I)−1u‖ ≤ 1
M
‖(T− zI)−1u‖ ≤M‖(T− zI)−1u‖

This implies ‖(T∗− z̄I)−1u‖ ≤M‖(T− zI)−1u‖ for any real
number M.

Theorem 3.8. If T is M -Fuzzy hyponormal operator then
‖(T− zI)u‖n+1 ≤Mn(n+1)/2‖(T− zI)n+1u‖ for each u ∈ H

Proof. Given T is M -Fuzzy hyponormal operator. by the
definition , ∃ a real number M such that

‖(T− zI)∗u‖ ≤M‖(T− zI)u‖ for all u ∈H and z ∈ C
To prove that

‖(T− zI)u‖n+1 ≤Mn(n+1)/2‖(T− zI)n+1u‖

By using the mathematical induction,
For n = 1, ‖(T− zI)u‖2 ≤M‖(T− zI)2u‖
Let us assume that it is true n = k,
i.e. ‖(T− zI)u‖k+1 ≤Mk(k+1)/2‖(T− zI)k+1u‖
Now, we have to prove that it is true for n = k+1.

‖(T− zI)u‖(k+1)+1 =‖(T− zI)u‖(k+1)‖(T− zI)u‖

≤Mk(k+1)/2‖(T− zI)k+1u‖‖(T− zI)u‖

≤Mk(k+1)/2‖(T− zI)ku‖‖(T− zI)2u‖

≤Mk(k+1)/2‖(T− zI)k+2u‖

‖(T− zI)u‖(k+1)+1 ≤M
k(k+1)

2 +1‖(T− zI)(k+1)+1u‖

Hence proved.

Theorem 3.9. If T is M -Fuzzy hyponormal operator then if
(T− zI)u∗ = 0 then (T− zI)u = 0.

Proof. Given T is M -Fuzzy hyponormal operator. Then we
have ‖(T− zI)∗u‖ ≤M‖(T− zI)u‖ for all u ∈H and for all
z ∈ C.

Given that (T− zI)u∗ = 0

Consider,

‖(T− zI)∗u‖2 =〈(T− zI)∗u,(T− zI)∗u〉
=sup{t ∈ R : F((T− zI)∗u,(T− zI)∗u, t)< 1}

Since(T− zI)∗u = 0

⇒ 0 = sup{t ∈ R : F((T− zI)u,(T− zIt)u, t)< 1}
i.e. sup{t ∈ R : F((T− zI)u,(T− zI)u, t)< 1}= 0

⇒ 〈(T− zI)u,(T− zI)u〉= 0

⇒‖(T− zI)u‖2 = 0.

⇒ (T− zI)u = 0.

Hence the proof.

Theorem 3.10. Let T be a M -Fuzzy hyponormal operator
and let K= {u ∈H : ‖(T∗− z̄I)u‖= M‖(T− zI)u‖, z ∈ C}.
Then K is a closed subspace of H.

Proof. For u ∈H, we have

‖(T∗− z̄I)u‖2 = M2‖(T− zI)u‖2

i.e. by a known theorem,

‖(T− zI)∗u‖2 = M2‖(T− zI)∗u‖2

〈(T− zI)∗u,(T− zI)∗u〉= M2〈(T− zI)u,(T− zI)u〉

sup{t ∈ R :F((T− zI)∗u,(T− zI)∗u, t)< 1}=
M2 sup{t ∈ R : F((T− zI)u,(T− zI)u, t)< 1}

sup{t ∈ R :F((T− zI)(T− zI)∗u,u, t)< 1}=
M2 sup{t ∈ R : F((T− zI)∗(T− zI)u,u, t)< 1}
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0 = M2 sup{t ∈ R : F((T− zI)∗(T− zI)u,u, t)< 1}−
sup{t ∈ R : F((T− zI)(T− zI)∗u,u, t)< 1}

M2〈(T− zI)∗(T− zI)u,u〉−〈(T− zI)(T− zI)∗u,u〉= 0

〈M2(T− zI)∗(T− zI)u− (T− zI)(T− zI)∗u,u〉= 0

⇒ [M2(T−zI)∗(T−zI)−(T−zI)(T−zI)∗u = 0, for all z∈C.

From this it follows that K is the null space of the operator

M2(T− zI)∗(T− zI− (T− zI)(T− zI)∗.

Hence K must be a closed subspace of T.

Theorem 3.11. Let T be a M-Fuzzy hyponormal operator
and let z1,z2 be in σap(T) with z1 6= z2. If (un) and (vn) are
the sequence of unit vectors of H such that ‖(T−z1I)un‖→ 0
and ‖(T− z2I)vn‖→ 0 then 〈un,vn〉 → 0

Proof. Let T be a M-Fuzzy hyponormal operator and let z1,z2
be eigen values in σap(T) with z1 6= z2. Then we write

(z1− z2)〈un,vn〉=〈(z1− z2)un,vn〉
=sup{t ∈ R : F((z1− z2)un,vn, t)< 1}
=sup{t ∈ R : F(((T− z1I)− (T− z2I))un,

vn, t)< 1}
=sup{t ∈ R : F((T− z1I)un,vn, t)< 1}
− sup{t ∈ R : F((T− z2I)un,vn, t)< 1}

=sup{t ∈ R : F((T− z1I)un,vn, t)< 1}
− sup{t ∈ R : F(un,(T− z2I)∗vn, t)< 1}

(z1− z2)〈un,vn〉=〈(T− z1I)un,vn〉−〈un(T− z2I)∗vn〉

Now,

‖(z1− z2)〈un,vn〉‖=‖〈(T− z1I)un,vn〉−〈un,(T− z2I)∗vn〉‖
‖(z1− z2)〈un,vn〉‖ ≤‖(T− z1I)un‖+‖(T− z2I)∗vn‖
‖(z1− z2)〈un,vn〉‖ ≤‖(T− z1I)un‖+M‖(T− z2I)vn‖→ 0

Since ‖(T− z1I)un‖→ 0 and ‖(T− z2I)vn‖→ 0

‖(z1− z2)〈un,vn〉‖ → 0 as 〈un,vn〉 → 0

Hence the proof.

Theorem 3.12. Suppose that a subspace K of H reduces an
operator T on H. Then T is M - Fuzzy hyponormal iff T|K
and T|K⊥ are Fuzzy hyponormal .

Proof. Let us assume that T is M - Fuzzy hyponormal
i.e.,‖(T− zI)∗u‖ ≤ M‖(T− zI)u‖ for all u ∈ H and for all
z ∈ C
Let T1 = T|K and T2 = T|K⊥ for u ∈K
by the definition of M-Fuzzy hyponormal,

‖(T1− zI)∗u‖= ‖(T− zI)∗u‖
≤M‖(T− zI)u‖
≤M‖(T1− zI)u‖

i.e.,‖(T|K− zI)∗u‖ ≤M‖(T|K− zI)u‖

Therefore T|K is M - Fuzzy hyponormal operator
Again, for u ∈K∗

‖(T2− zI)∗u‖= ‖(T− zI)∗u‖
≤M‖(T− zI)u‖
≤M‖(T2− zI)u‖

i.e.,‖(T|K⊥− zI)∗u‖ ≤M‖(T|K⊥− zI)u‖

Therefore T|K⊥ is M - Fuzzy hyponormal operator.
Hence T|K and T|K⊥ is M - Fuzzy hyponormal operator.
Conversely, let us assume that T|K and T|K⊥ are M - Fuzzy
hyponormal operator.
For every u ∈H, it can be written as u = u1 +u2
where u1 ∈ K and u2 ∈ K⊥ for z ∈ C and for all vectors of
u ∈H.
Consider

‖(T− zI)∗u‖2 = 〈(T− zI)∗u,(T− zI)∗u〉
=〈(T− zI)∗(u1 +u2),(T− zI)∗(u1 +u2)〉
=sup{t ∈ R : F((T− zI)∗(u1 +u2),

(T− zI)∗(u1 +u2), t)< 1}
=sup{t ∈ R : F((T− zI)∗u1,(T− zI)∗u1, t)< 1}
+ sup{t ∈ R : F((T− zI)∗u2,(T− zI)∗u2, t)< 1}

=sup{t ∈ R : F((T1− zI)∗u1,(T1− zI)∗u1, t)< 1}
+ sup{t ∈ R : F((T2− zI)∗u2,(T2− zI)∗u2, t)< 1}

=〈(T1− zI)∗u1,(T1− zI)∗u1〉+
〈(T2− zI)∗u2,(T2− zI)∗u2〉

=‖(T1− zI)∗u1‖2 +‖(T2− zI)∗u2‖2

≤M2|(T1− zI)u1‖2 +‖(T2− zI)u2‖2}
≤M2{‖(T− zI)u1‖2 +‖(T− zI)u2‖2}
≤M2‖(T− zI)(u1 +u2)‖2

‖(T− zI)∗u‖2 ≤M2‖(T− zI)u‖2

⇒‖(T− zI)∗u‖ ≤M2‖(T− zI)u‖
Hence T is M-Fuzzy hyponormal operator

Theorem 3.13. If T is M-Fuzzy hyponormal then Reσap(T)⊂
σap(ReT).

Proof. Let γ = α + iβ ∈ Reσap(T) then ∃ sequence (un) of
unit vectors of fuzzy Hilbert space H 3 Tun− γun→ 0 then
T∗un− γ̄un→ 0

(ReT)un−αun =

(
T+T∗

2

)
un−

(
γ + γ̄

2

)
un

=

(
T

2
− γ

2

)
un +

(
T∗

2
− γ̄

2

)
un

=

(
T− γI

2

)
un +

(
T∗− γ̄I

2

)
(ReT)un−αun→ 0
⇒ (ReT)un→ αun
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therefore α ∈ σap(ReT).
Hence Reσap(T)⊂ σap(ReT).

Note 3.14. If a subspace K reduces on operator T then T is
fuzzy hyponormal iff T|K and T|K⊥ are Fuzzy hyponormal.

Theorem 3.15. If T is M- Fuzzy hyponormal operator then
the span of all Eigen vectors of T reduces T.

Proof. Given T is M- Fuzzy hyponormal operator.
We know that Tu = zu then T∗u = z̄u for all complex z.
It can be easily seen that the subspace K= {u∈HTu= zu,z∈
C} reduces T.
If z1 6= z2 then {u ∈ H : Tu = z1u,z ∈ C}⊥{u ∈ H : Tv =
z2v,z ∈ C}.
This follows from the known theorem, Tu = z1u and Tv =
z2v,z1 6= z2 then 〈u,v〉= 0.
We conclude that the restriction of T to each of eigen spaces
is fuzzy normal.
Hence the span of all eigen vectors of T reduces T.

Theorem 3.16. If H is finite dimensional and T is M-Fuzzy
hyponormal operator then T is Fuzzy normal.

Proof. Given H is finite dimenstional and T is M-Fuzzy hy-
ponormal operator.
To prove that T Fuzzy normal
We use mathematical induction to prove this.
Let us assume dimH = n.
If n = 1, then every operator on fuzzy Hilbert space H is
fuzzy normal.
Let us assume that it is true for dimH < n.
We know that every linear mapping on a finite dimensional
space has at least one eigen value.
T has an eigen value say z.
Let K=Kz be the eigen spaces of T. associated with z.
By the above theorem K reduces T. T|K is fuzzy normal. K⊥
also reduces T.
Since v ∈K⊥ then for each u ∈K, 〈u,v〉= 0.
Consider,

〈Tv,u〉= sup{t ∈ R : F(Tv,u, t)< 1}
= sup{t ∈ R : F(v,T∗u, t)< 1}
= sup{t ∈ R : F(v, z̄u, t)< 1}
= zsup{t ∈ R : F(v,u, t)< 1}
= z〈v,u〉

⇒ 〈Tv,u〉= 0

⇒ Tv ∈K⊥

Again consider

〈T∗v,u〉= sup{t ∈ R : F(T∗v,u, t)< 1}
= sup{t ∈ R : F(v,Tu, t)< 1}
= sup{t ∈ R : F(v,zu, t)< 1}
= z̄sup{t ∈ R : F(v,u, t)< 1}
= z̄〈v,u〉

⇒ 〈T∗v,u〉= 0

⇒ T∗v ∈K⊥

It is clear that T|K and T|K⊥ are M-fuzzy hyponormal opera-
tor.
By the induction Hypothesis, T|K⊥ is fuzzy normal.
Hence T is fuzzy normal.

4. Conclusion
As the new idea of M-fuzzy hyponormal operator in FH-

space is the old form of M- fuzzy hyponormal operator. The
conclusion that can be taken from M- fuzzy hyponormal op-
erator in FH- space, example and properties. Including its
relationship with Self Adjoint Fuzzy operator, Fuzzy Normal
operator and Fuzzy Hyponormal operators. In future we hope
it is very helpful to find many types of M-fuzzy hyponormal
operator and M-fuzzy paranormal operator.
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